Commercial, industrial, and agricultural businesses across North America have long trusted **Guelph Twines Ltd.** for a complete range of strong yet lightweight twines and monofilaments uniformly manufactured for optimal handling qualities and a wide range of applications.



### **Twisted Twine**

Our twisted tying twines are our most widely used twines. Made from virgin polypropylene for maximum performance, our twisted twines are suitable for just about any application because of their strength, softness, lightweight, and excellent knotting characteristics. To further ensure optimal performance, our polypropylene twines are resistant to moisture, mildew, and chemicals.



### **Baling Twine**

Our baling twines serve any company with a manual industrial baling machine, from supermarkets and big-box stores to pharmacies, office supply centers, hospitals, carton manufacturers, and more. Whether baling scrap metal, cardboard, or carpeting, our heavy-duty polypropylene baling twines are as strong as baling wire. Yet they're easier to use, more economical, and safer.



### **Flat Ribbon Twine**

Providing a broad bearing surface for safely securing sensitive items, our flat ribbon twine (particularly used by greenhouses in RASSPE tying machines) comes in four standard sizes to ensure the binding and shipping needs of most businesses.



### **Greenhouse Twine**

We help agricultural businesses thrive with a wide range of soft, uniform twines ideal for supporting greenhouse vegetables, including unique twines developed for tomatoes and peppers. Agricultural businesses also use our twines for nursery tree branch support, root ball tying, grape vine support, Christmas tree baling, and many other applications.



### **Twisted Monofilament Twine**

Our monofilament twines are made by taking multiple ends of white polypropylene monofilament and twisting them together to create a strong and durable twine. We then overlay the twisted lines with a thicker blue monofilament line, meant to hold the twine together in its twisted form. The result is a strong, uniform twine that can be used for various purposes.

### **Available Sizes**

### **Twine**

All our twines come with center-pull coiling for easy dispensing. To ensure hassle-free handling and optimal workflow, all our tying twines (except greenhouse twines) come in various sizes to ensure you always have convenience in the palm of your hand.

### **Monofilament**

Averaging 5.8 grams per dernier, our trusted monofilament rope yarns are also available in a range of colors and sizes.





# **Standard Sizes Kept in Stock for Fast Shipping**

To help ensure your business operates smoothly, we keep most standard twines and monofilaments in stock for same-day or next-day shipping.



## **Custom Specifications**

If you need something manufactured to your specifications on a short lead time, give us a call. We typically ship 80 cartons to a pallet (any mix of sizes). For orders of 60 cartons or more, freight is prepaid. (We ship to major centers in Canada only.)





**Phone:** (519) 821-9140 **Toll Free:** 1-888-771-9140

info@guelphtwines.com guelphtwines.com

50 Crimea St. Guelph, ON N1H 6J6 Canada

**Hours:** Monday – Friday 8:30 a.m. – 4:30 p.m. EST

Established in 1972 by industry visionaries from the Brantford Cordage Company, Guelph Twines Ltd. quickly became known for product quality and innovation by the comprehensive experience of its founders.

Today, Guelph Twines retains the same quality reputation and strength of experience as a third-generation family-owned business manufacturing twines, monofilaments, and cable fillers for many commercial, industrial, and agricultural businesses across North America.

In everything we do, our products reflect the experience of our cordage industry employees, dedicated to the values of product quality, reliability, innovation, fast order fulfillment, and exceptional customer service and satisfaction. We are here to deliver.



### Twines & Monofilaments

Available Sizes

### **Twisted Twine**

Туре	Code	Description	Packaging	Avg. Tensile Strength	Avg. Knot Strength	Feet/ lbs	Weight/ Carton	Length/ Carton
Twisted Twine	PT030012	P300 Plastic Twine	Center-pull carton	400	240	300	11	3300
Twisted Twine	PT045010	#450 Plastic Twine	Center-pull carton	275	160	450	10	4500
Twisted Twine	PT070010	#700 Plastic Twine	Center-pull carton	180	110	700	10	7000
Twisted Twine	PT090010	#900 Plastic Twine	Center-pull carton	140	85	900	10	9000
Twisted Twine	PT140010	#1400 Plastic Twine	Center-pull carton	90	50	1400	10	14000

### **Baling Twine**

Туре	Code	Description	Packaging	Avg. Tensile Strength	Avg. Knot Strength	Feet/ lbs	Weight/ Carton	Length/ Carton
Baling Twine	TF015010	TF150 Baling Twine	Center-pull carton	750	450	150	10	1500
Baling Twine	TF030010	TF300 Baling Twine	Center-pull carton	400	240	300	10	3000
Baling & Pull Line	TF070010	TF700 Baling Twine	Center-pull carton	180	110	700	10	7000

### **Flat Ribbon Twine**

Туре	Code	Description	Packaging	Avg. Tensile Strength	Avg. Knot Strength	Feet/ lbs	Weight/ Carton	Length/ Carton
Flat Ribbon Twine	RT039010	R390 Ribbon Twine	Center-pull carton	240	150	390	10	3900
Flat Ribbon Twine	RT090010	R900 Ribbon Twine	Center-pull carton	105	65	900	10	9000
Flat Ribbon Twine	RT120010	R1200 Ribbon Twine	Center-pull carton	80	50	1200	10	12000

### **Greenhouse Twine**

Туре	Code	Description	Packaging	Weight / lbs	Meters / Ball	Feet / Ball	Balls / Skid	Colours
Tomato Twine	PI150060	P1500 Tomato Twine, U.V. treated	Center-pull carton	14.55	6600	21750	60	White, Green
Pepper Twine	PI200060	P2000 Pepper Twine, U.V. treated	Center-pull carton	12.57	7600	25000	60	White, Green
Grape Twine	RT200030	R2000 Grape Twine - 30 rolls per case	Center-pull carton	1	610	2000	32	White



**Phone:** (519) 821-9140 info@guelphtwines.com **Toll Free:** 1-888-771-9140 guelphtwines.com

Hours: Monday – Friday 8:30 am – 4:30 pm EST

### Twines & Monofilaments

Available Sizes

#### **Twisted Monofilament Twine**

Туре	Code	Description	Packaging	Avg. Tensile Strength	Avg. Knot Strength	Feet/ lbs	Weight/ Carton	Length/ Carton	Colour
Twisted Monofilament Twine	PTM14000	M140 Plastic Twine	Center-pull carton	140	80	1000	9	9000	Blue/white
Twisted Monofilament Twine	PTM18000	M180 Plastic Twine	Center-pull carton	180	110	775	9	7000	Blue/white
Twisted Monofilament Twine	PTM24000	M240 Plastic Twine	Center-pull carton	240	140	583	9	5250	Blue/white
Twisted Monofilament Twine	PTM27500	M275 Plastic Twine	Center-pull carton	275	160	500	9	4500	Blue/white
Twisted Monofilament Twine	PTM80000	M800 Plastic Twine	Center-pull carton	800	450	160	9	1450	Blue/white

### **Monofilament Rope Yarn**

Туре	Code	Description	No. of Ends	Denier / End	Total Denier	Tensile (lbs)	Tube	Tube I.D.	Ball Wt.	Tubes / Skid	Colour
Monofilament Rope Yarn	MY3NAT60	4-End Mono Yarn	4	750	3000	35	12	3.25	9	60	Natural
Monofilament Rope Yarn	Various	10-End Mono Yarn	10	300	3000	35	12	3.25	11	60	Various
Monofilament Rope Yarn	Various	16-End Mono Yarn	16	188	3000	35	12	3.25	10	60	Various

### **Standard Sizes Kept in Stock for Fast Shipping**

To help ensure your business operates smoothly, we keep most standard twines and monofilament rope yarns in stock for same-day or next-day shipping.

- If we don't have what you need in stock, we can typically produce what you need quickly.
- If you need something manufactured to your specifications on a short lead time, call us.
- We typically ship 80 cartons to a pallet (any mix of sizes).
- Pre-paid freight is offered for any major city in Canada on orders over 60 cartons.

#### Let Us Know What You Need

During office hours, someone is always available to answer your questions or provide you with product samples or documentation. We are here to deliver!



**Phone:** (519) 821-9140 info@guelphtwines.com **Toll Free:** 1-888-771-9140 guelphtwines.com

Hours: Monday – Friday 8:30 am – 4:30 pm EST